MA120 Sample Questions Answer                         

1. SEQUENCE PATTERNS

Write the next three numbers in each sequence and briefly indicate the pattern.

a.
2, 5, 10, 17,  26, 37, 50

b.
64, 32, 16, 8, 4,  2, 1, 0.5



c.
5, 10, 9, 18, 17, 34, 33,  66, 65, 130


Cryptarithmetic: Solve the following addition problem. 

Each letter represents a digit and different letters represent different digits. (S and I cannot be zero of course)


          S E E D 
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       S P  I C  E

             
(Clue: What are the two digits that I can possibly represent? Which one works?)

          Answer: 


         C = ___2__ ,  D = __3___ , E = __6___ , I = ___9__ , P = __0__ , S = __1___ .

Find the Gold coins 

Ten gold coins are hidden under ten of the unlabeled hexagonal tiles in this floor. The numbers on the labeled tiles indicate the total number of gold coins that are under tiles adjacent to that tile. Furthermore,

(1) there is at most 1 coin under each tile,

(2) no coin under the labeled (i.e. numbered) tiles,

(3) there is no more tile other than those drawn.
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Put a star on the tile if you think that there is a gold coin under it.

Family Reunion

At one family reunion, every niece was a cousin.  Half of all aunts were cousins.  Half of all cousins were nieces.  There were 50 aunts and 30 nieces.  No aunt was a niece.  How many cousins were neither nieces nor aunts?  

Answer: 5

Find their occupations

Clark, Jones, Morgan, and Smith are four men whose occupations are (not in the same order) butcher, druggist, grocer, and policeman.

1. Clark and Jones are neighbors and take turns driving to work together.

2. Jones makes more money than the butcher.

3. Clark beats the grocer regularly at bowling.

4. The butcher always walks to work.

5. The only time that Jones and the policeman ever met was when the policeman arrested Jones for speeding.

6. Smith makes more money than both the druggist and the grocer.
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Answer:    Clark : Druggist
                 Jones: Grocer

                 Morgan: Butcher

                 Smith: Policeman
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